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CG-11-2020
WINTER EXAM 2020
Subject Name : SA-79_Economics-Industrial Economics —(DSE-I) -IX(CBCS)_V_19-03-2021

Duration : 60 min. |

Instruction / {frrn/ -

* Follow the detail instructions given on OMR Sheet
* 3 T 3R Gl §S G Treled .

Q.1
What is an individual propritetorship.
Teh cTedl TS TEGAl FgUTal i ?
AlBusiness owned by one person. [TehT ST TaT

HATeThIAT SATIR]
BlBusiness owned by a company. [TerT HY==ar
HATThIT SATIR.]

Q.2
Individual propritetorship Business has ..................

U STFdT YT SATIRIA .
AlLimited Liability [Fraffe &2raT]
BlUnlimited Liability [3r7aTRa &2

Q.3

ClBusiness owned by a several companies. [3/& FUTeAT AT SATIR |
DlNone of the above. [arer 8T AT

ClNo Liability [&zrar s78a]
DlAll of the above [afrertr €4

In partnership what should be minimum number of partners.

AR FeTT FHT TRt HENERIET 3TaTehdT 37E .

AlTen [zzT]
BlFour [@X]

Q.4
In partnership, partners have ................ Liability

HTINERIFTeY, HPTYRGRIT IdT 3.
AlLimited Liability [FraTfe &2raT.]
BlUnlimited Liability [3/ifee &2rT.]

Q.5

Which of the following advantages of joint stock company.

AlLimited Liability [FaTa &aaT 3/d.]

BlLarge capital [FaaT SHTOTER Higael 3HRAT 3]

Q.6

In joint stock company every share-holders has..........

AlLimited Liability [Fraffe &2raT.]
BlUnlimited Liability [3raTfa &)

Q.7
Which of the following statements is true.

relTerehT ot faemeT sRie 311

Cliwenty [dr]
Dltwo [g=1]

ClNo Liability [&zraT =&a.]
DlNone of the above. [arertidhT 18]

Clcan share holders transfer their shares. [$T9TRY g€diaR #aT 4]
DIl of the above [a8rer 3T &4]

ClNo Liability [&=raT =aer.]
DlNone of the above. [arertidhT T8N

Alln joint stock company share-holders can transfer the Clip, joint stock company, shareholder have no liability. [EFT TheT THS DI

share. [EgeFcT TheT THSABIC I GEATAROT Il

AT ST 78]
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] DlNone of the above. [a3rer §&T 7181

B]in joint stock company, share-holders can not
transfer their share. [ ThET THSBIT HIITERH

AT §EATR % A ATel]

Q.8
Liberalization means........................

SERIHOT FEUTST :
ree Trade = estriction of Private Sector '
AlFree Trade [geT caTdR] ClRestriction of Private Sector [@refr &TaR free]
BlRestrictions on Trade [aTIRTaR fodt] DlNone of the above [aSer 8T ATEN]

Q.9
Who was the founder of Economics.

3TRATEATT STeTeh HIOT BT,
Aladam Smith [3fs7 feme) Clsargent Flowerence. [aTiee Feili=4]
BlAlfred Weber [3Te3F8 38R DlRicardo. [f&r=]

Q.10
Which book was written by Alfred Weber in 19097

1909 HEY 3TeIhs A&t I0TAT FY forger.
AlThe Theory of location of Industries. [&F 23/ 3%
Sl 31T S5ea] Clprinciples of Economics. [fr=dTaer 3t s@iaiiaed]
B]An industry into the nature and causes of the wealth. DlNone of the above. [a3rer Yt =TET]
[37eT ool 3T € & ST 3103 Hlatd 3T § dey]

Q.11
The book 'The Theory of location of industries' was writen by .................

« &Y 31 3T SArehereT 3T S3TdIsT ' 8T 7Y AT forgT.

AlAlfred Weber [3Te3rg deR] ClMalthas [ATeer]
BlLewis e DlRicardo [fkar=f]
Q.12

Alfred Weber is an Economist from which country.

37Teths JeT 8T SHIUTAT AT TeT 3TET = 378,

AlGermany [s73] Clindia [#md]
Bl yapan [sram] Dlamerica [3m@RT]
Q.13

Proportion of weight of localised material to that of final product, it's called material index who said.

TaTRISs sHeear ATTedT TTalrd ScuTéid TEqeaT aoleIi 3Tfelel THTT FgUTT Uerd fAeensh 817 318 Il Fgeer 378,

Aladam Smith [3fss emY] Clalfred Weber [3Te3hs dev]
BlMarshal [#ATeTe] DlRobinson. [Rdea=]
Q.14
Which of the following occuptions includes in Secondary Sector?
GrelTeTtehT ShIUTeAT TG THTAL A en &7 giar.
A]Transport [EI'IEHQT:F] C]Agriculture [T
BlBanking [&fTeT] Dliron and steel industry [eg & GerTe 3¢z
Q.15

Which of the following is the factor affecting on industrial location.
reftereh 3 TATHRNHIONET YHIE STHUTR T HiuTd?
Al Availbility of raw material [#<aT ATemaT 3qeretrar]  ClAvailbility of capital [HiSaeTdT 3TeetrdT]
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BlSupply of skill Labour. [T HTHIRTET ] DIl of the above. [a€rer YT &4

Q.16
Which of the following industry is known as mother industry.

Aliron and Steel industry [ & TelTe 3¢ Clsugar industry [&m@ 3T
BlCotton Textile industry [l 198 3] DlNone of the above [afrerter =AT8Y.]
Q.17

Which of the following is problem faced by cotton textile industry.

GreiTerdehT ST Felt IS SEHIHANIT FHEDT 3T

AlLack of Capital [$TsaeTaT 3737Td] Clforegin competition [fa&=fr T
BlRising Expenditure [@aT=r ared 50| DIAll of the above [a3rer 3T ]
Q.18

Which of the following is included large scale industry.

TelTereh FHIUTCAT 3EAIMT HATI HSAT IEAMHEY gl

AlCotton Textile industry [gelt 198 3] Clsugar industry [ar@x 3]
Bliron and steel industry [¢@s & elTe 3e2T] DlAll of the above [afrer 3T ]
Q.19

Which of the following industry is not included in Agro-based industries.

QreiTel Yehl SIUTCAT SETITET HATIL HNT TR SSHRMAE et AT,

A]Agricultural equipments. [Eljﬂﬁ KCIR| Cliron and steel industry [h@s HQTFTEE\QI?
BlFertilizers [@d] Dlinsecticides [farea aTerF]
Q.20

Which of the following is problem faced by Agro-based industries.

QreiTer Yehl SITCT T TR ST FHNIT FHEIT 3T
Alproblem of raw material [FTeaT AT ToHEAT] Clproblem of sell [fashraT e

Blproblem of capital [$igaad e DlAll the above [a€rer 8T d]
Q.21
As one of the remedial measure of industrial sickness .............. Bank was established.

HTSTRY 3SR HTTRYUT G HIUATT Tehs 3UTT FEOTST AT Sehell TATTAT 0T AT,

AlThe industrial reconstruction Bank of India [g3fegrer C]
Rl s 3T 332

BlState Co-operative Bank [€2T &1-3ifqéeg oa]

State Bank of India [F¢€ s 31T 53]
DlRegional Rural Bank [RsTTel &eT o]

Q.22
Identify the wrong option:

ehraT T 3iTeaT.
Alsmall Scale Industry - more employment [oTg 3T Clsmall Scale industry - Decentralization of industry [eTg] 3T — Seamy
_ 3R Ae9IR] FrehgreoT]
BlSmall Scale industry - less capital [eTg] 3T — HAT Dlsmall Scale industry - large scale production. [¢Tg] 3T — AISAT FAHTUTER
HISdd] 3cUTeH]

\?\lﬁi?:h of the following statement is wrong.

Trellertieh! HI0Td fIUT= T 3776
AlTransport industry is included in Tertiary sector. Clagriculture is included in Secondary Sector. [2rdraT THATYET g &31a 8t ]
B][qm 3 HHTART I &1 E1ef] DlForest industry is included in primary sector. [aT 3eZTeT GHTALT Trffe
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Banks are included in Teritiary Sector. [§ehraT THTI  &1T &Idl
CRIEEAEICEICIN

Q.24
From the following which is the wrong sentence.

Trellerdieh! HIoTd Tt T 377e.
A]Sugar industry is based on Agriculture. [HTER 333fl?T
AEGIEAE CEECIN Clsugar industry is large industry [GTEX 3eYeT g1 HaT 32T 3112 ]
B]Sugar industry is not based on Agriculture [HT@Y D]Sugar industry is based on sugarcane. [HT@Y WETW 343?»133 318 ]
3E 19T 8T AcfaR rdeieed =ATeT]

Q.25
In which of the following State there is localization of Sugar Industries.

Grellerdehr HIUTT AT TR 3G TUTAIIHIOT STet 3TE.

AlMaharashtra [AgRTSE] Clkarnataka [FeiTee]
Bl Andhra Pradesh [31r si&21] DlAll of the above. [a3rer 8T ]
Q.26
Which of the following is a characteristics of small scale industry.
Alyuse of labour intensive technique. [SFYETe daTaT
que. | Cluse of the local raw material. [F2Tei1e FTedTATATET aT9]

DlAll of the above. [afrer ST
Bliess capital requirement . [T HizaemaT 2T )

Q.27
New Industrial Policy was declared in .............. Year.

AdIeT i eRor T &Nt SER HUAT 3ol
A11991 [1991] Cl1994 [1994]
B]1995 [1995] D11989 [1989]

Q.28
Which of the following is the reason of Industrial Sickness.

GrelTer Y1 AN HTSTRYUITD HIvTd HRUT AR,
Al ack of raw Material [T ATeATdT 37T XS]] Clinfefficient mangement [3TRIIETH STaEATI]
BlLack of Capital [fedqRaaarar 3131ra] DIAll of the above [aTdr &4

Q.29
Which of the following is not the problem of Agro-based industry.

Alproblem of electricity. [farsreT e ClLack of Capital. [$TgaeTaT HHFaRET
Blold technology. SeKEEIC) DlMore employment. [31R¥& AstaTR]
Q.30
L.P.G. Means:
T drSh Jgoer
AlLiberalization, Privatization, Globalization. [3&RI&0T,
GrANROT, STfREROT] ClLiberalization, Privatization , Growth . [S&RIER0T, @retelienoT, Fedl]
B]Liberalization, Performance, Globalization. DlNone of the above. [adrertidhT A&

[3EreoT, SReeiY, SeTfadheon

Q.31
Which of the following is a small industry.

QTelTertehT HIOTAT AY3EATT 3.
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AlEngineering Goods industry . [3Tif3hr & 3¢ aMClCotton Textile industry [gel 198 3]
Bliron and steel industry. [@1g 31701 drelre 3eeT] Dloil-seed processing industry. [der-fram ufsar 3zt

Q.32
From the following is not a characteristic of industrial policy of 1991.

Grellerdehr ot 1991 =T AN A GROT dfAsey 8.
Allndustrial Licensing Policy cancled. [3Htea eI axarar
¢ROT T, ] ClLimitiation on Public Sector. [Ard<ifeies £11aX #7TET ]
BlFree import of foregin Technology. [fa&eft daamarar  PlLess importance of foreign Investment. [faeefr AU FHHT Hgcd]

HaFcT AT

Q.33
Which is the benefit of Industrilization

FHieAN Ao IS AT,
Allncrease national income [RTSERT 3ede=Td a1 #¥01]  CIRegional balanced development [ST& 21 TdTer faerd]
Blincrease employment [JTTR are o] DlAll of the above [afrer 8T ]

Q.34
The first cotton industry started in which of the following city.

qfgell Gelt 198 3EATIT Wrellel YT HIUTCAT AETT G STl

AlKolkata [heTehcdT] C]Kanpur [T ]
BlAhmednagar [376#EeR] Dlahmedabad [37FeeTE]
Q.35
Which of the following rank of india in the world in sugar production.
AlFirst [afgem ClThird [farem]
Blsecond [gamm DlFourth [atem
Q.36
.................. Attempted to give more freedom to the enterepreneurs.
_ 3cASIHiET AU FATdT SUATAT Y dhell.
AlLiberalization. [3ERI&w0T] ClGlobalisation. [STeTaRERoT]
Blprivatisation. [@rerfiaor] Dlindustrilisation. [3itezifareor]

Q.37
Which of the objective of the 1991 industrial policy.

1991 =1 A YRomY 3fesey Fivra.
AlEncouraging Foreign Investment. [fareelY aycrauyehrem

AT ot ] Claccelerate economic growth [STergaTdlieT 3mRies fera EEECII LN
BlEliminating reginal inbalance. [JT&RI% 3ridqerT gy PIAIl of the above. [adier 3T &)
FOT]
Q.38

Which of the following company was farmed for the development of iron and steel Industry.

ANg T GYelTe 3eANMTAT TAHTHTATST Wieltel FehT 0T SHTeT FATTT HIUAT 3HTel.

AlTISCO [feea] Cla And B Both [A 37707 B 28181
Bliisco [z& DINone of the above [arer §&T ATEY]
Q.39
Find out the odd option.
fargeTa 9o 3.
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AlCotton industry. [T95 et Clpiastic industry. [Tl EET 3]
Blsugar industry. [GTER 3¢ DlTobacco industry. GELCEERIEN!
Q.40
Which of the following statement is true.
GrelTeltehT IvTd faeTs T 3.
Alindustry is included in Primary Sector. [3&Z19T &3
THATAY TITHS &A1 &Il ] Clindustry is included in tertiary Sector. [3&taT EYATET FHTAL Tl deh &1 giei.]
Blindustry is included in Secondary Sector. [3eTar DlNone of the above [a¥rer § =T8T ]
YT AT fegcirren 8137 8]
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